ﬁ'a—ufl

/)(ﬁ’fn’f ¢ rﬁo&?ﬂﬂm
ctlons In e L[lnﬂ,é&f
e of LAY

e —————————

}‘H !n:\/ o afe tio /)m

/ ‘/ // ,,v/,oulm i ,n,,,//numv .=
' l‘ A
Aun

“ /’.IN( 2 (/nJ‘r'fnt}' /(,’(/y/’z,/,_,:a

x (o the f//,r'm/ )

\1‘\ e o G U ="A Vg, 7/;(,,7%//

3 Ly Cn/[u/ ﬁ(y[/y fﬂ"éﬂf&“/—
2 j«l M Attt (%, %18

(2] oisenrd A, o Pid 2, W/ 2

/»AU [0
(/nr/f/n/’(ﬂt H/ 1"/277

|

T oTATTIT TC U WItTT UC



Max o Min 7‘9(“/ 1, 2)= x4+4+2
st XA 2E=2s }‘

= =, D ™
//9(///%/—- 767"j"'%'25_j
=<t 41>, V=<7 2>
D= < 1,4,1> = N <22, 17

substtnt @Din (O wfffrl ey |
6E)+€fﬂ‘fba T - ‘

- s 4 = i
-, 3 =125 — ’)\ 4/00 Wé/ 7\%40 |
—, S\, and Find 2 1% T
s d 5
=L + 5 %’iTﬁé‘

N\
N
|
{3
Sl
;
\\
3

s R Sm | - |
ar‘{ Itr mfn-‘/f"lm’ g b

oudailll |€U""W"i"uTU'!



R I ITETTRRIRERT——————— ——— P——

a3 |
? ®IF {2(76;(‘/,%)__: ‘ff«—(‘jﬁ- 5%7: —)éfm/ f'ﬁ« [)MW

_ 12 at colith
’f@u l’)p(mb 276’4“38'1""%-‘ {2 co

?QU‘/ d /%)

- : R —
o OCUITTCU WilT &C



m—
§

.
- \ jg_m‘,‘. K)'C",M)
_ L((%)"( A) ? pecuFS
20 o0y Pon o
= ’M,Q N et
ik \f’ | 20 /%)
o PURIE = —H=
7

JUdUlITiIcu vviilli \Ja



